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a’—b*>=(a-b)(a+bh), (axb)*>=a’+2ab+b?;
(axb)® =a®+3a’b+3ab* +b?,

a’+b®=(a+b)(@a*—ab+b?),a®>-b*=(a-b)(a*+ab+b?)
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_ —b++/b*-4ac

X, = oa

NN (a=0) ax’ +bx+c=0 NRNIYNAN [INND .X

.ax® +bx+c=a(x—-x)(x—x,) DIMLN 7N'S A

D'WNIYI NIPTN .3

1 y
a*a’ =a*’, (ab)* =a*b*,¥a =a*,¥a’ =a*,

e () 53
(ax)y:axy,a‘xza—lx,%-%:@
.omnnaf 4
log, x=y < a’ =x :log-n n1Tan
.0<a,a#1l 1 x>0 WYUK P TAM log, x :NITANN DINN
log,(x-y)=log, x+log,y,  log,x’ =y-log,X;
log,(x/y)=log, x—log,V, Iogai/;=§-logax;
log, a

X= , log, x =

¢ log, a’
X

a°%X =x, In x = log, x,e = 2.718281828...
Ihx=a=x=¢*
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sin X = CcOoS E_X , Sin“ X+cos” x =1,
T
tanx:cot(E—xj, tan x-cotx =1
sin x COoS X
tan X = ——, Ot X =—
COS X sin X
1+tan?x = —, 1+cot’ x= ;
COS“ X sin “ x

(%) = lim =T ()

X, NTI1 f nN'Xj722190 N1 nITAN.6
X=X X=X,
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(x*)=ax*, (@*)y=Iha-a*;
(sin x)'= cos X, (e*)=e";
(cos x)'=—sin x, (log, x)'= ;
X-Ina
(tan X)'= ——, (cotx)'= —— 12 ;
Cos” X sin © x

(In x)'= 1

X
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(a- f(x)=a-f'(x);

(f(x)£9())= F'(x) £9'(x);

(f(x)g(x))= f'(x)g(x) + f(x)g"(x);

L(FO)g()h(x))= £'(x)g(x)h(x) + f (x)g"(x)h(x) + f (x)g(x)h"(x)

(f(X)J _ 90— f(x)g'(x).
g(x) 9%(x) ’
(fF(g(x))'=f'(g(x))-9'(x)
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Ildx:ln|x|+c;

X

jcosxdx=sin x+C;
jsin xdX = —CoSX +C;
jexdx:eX +C;

Iaxdx :iaX +C;
Ina

J.xadx:ixa*l+c,a¢—l;
a+1

dx =tan x+C;

Icos2 X

2

I_l dx=-cotx+C
sin © X
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j(f () £ d (x))dx =j f (x)dx ijg(x)dx;
[af (dx =a] f (x)dx;

jf(x)dx: F(x)+C :>If(ax+b)dx=

Flax+b) .
a
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[ 1009 (0dx = F(x)g(x) - [ £'(g(x)elx
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[ f(g0)g' (x)dx = [ f()dt,t = g(x)



